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Defence and Strategic Studies

Paper II
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Time Allowed : 120 Minutes]
Note : This paper contains Hundred (100) multiple choice questions. Each question

[Maximum Marks : 200

carrying Two (2) marks. Attempt All questions.
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Nuclear Non-Proliferation Treaty
(NPT) entered into force in which
year ?

(A) 1970

B) 1965

(C) 2001

(D) 1968

Which two countries initiated
bilateral negotiations on restrictions
on their strategic nuclear arsenals

and in which year ?

(A) India and Pakistan, 1971
(B) China and USSR, 1960
(C) India and China, 1962

(D) US and USSR in 1969

STIEAYAREE] HIATET STHTSSITa U

URIETUsh] AT ASIAHT  HLTATd
et ?

(A) 1970

B) 1965

(C) 2001

(D) 1968

AT 1fieeh YRAVERIETe qeleTish]
RIUTT & Theal QI U2 Tl qraesiat
=t Beft ?

(A) 4G arfor grferea, 1971
(B) =M anfil J.UH.TH.AR., 1960
(C) ¥ra mfor <4, 1962

(D) 4.TH. A JTH.THE.3R., 1969
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Whom does World Trade
Organisation (WTO) report to
annually on its efforts to achieve

trade specific targets in SDGs ?
(A) President of America
(B) Chairman of WTO

(C) UN’s High-Level Political
Forum (UNHLPF)

(D) Secretary General, UNO
Which is the United Nations (UN)

agency that assists and safeguards
the rights of internationally

displaced persons ?

(A) UN-IDP

(B) UNHCR

(C) UN REFUGEE Convention
(D) UNDP

When was the Comprehensive Test
Ban Treaty (CTBT) seeking to ban
all nuclear weapon tests opened for

signature ?

(A) 1 January, 1946
(B) 1 May, 1994

(C) 24 September, 1996
(D) 31 December, 2000
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(A) 3R Tl

B) WTO = =3{HA

(C) UN =i S=gdy USgshig #9
(UNHLPF)

(D) Hehelt e, UNO

®IOT UN TSl oTe S STairsed
Torcenfus =erit=mn SiferrraT W= X
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(A) UN-IDP

(B) UNHCR
(C) UN REFUGEE Convention
(D) UNDP
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e Heled T FINRT deel Tor

FOGId 3
(A) 1 STad, 1946
B) 1 ¥, 1994
(C) 24 ¥R, 1996
(D) 31 ey, 2000




When the SDG were accepted ?
(A) 10 January, 2000

(B) 20 June, 2012

(C) 17 September, 2015

(D) 30 September, 2013

38th parallel or latitude 38°N is the
line that demarcates between which

two countries ?

(A) China and Taiwan

(B) India and China

(C) Pakistan and Afghanistan
(D) North Korea and South Korea

How many countries are included in
the Central Asian Republics
(CAR) ?

(A) Six
(B) Ten
(C) Five

(D) Eight

APR - 16224/T1—C

yYeEd faswmare 3 (TH.B1.S.) &hal
SRR 3 ?

(A) 10 STHeI, 2000

(B) 20 I{, 2012

(C) 17 ¥<sR, 2015

(D) 30 ¥R, 2013

38° WTel/TIeTE THR JeieTieh! v
T 9 Hafed e ?

(A) = enfor o

(B) Y@ s =i+

(C) wifsh&ar =7for Shmforedr

(D) S HRMET M0 S0 R

Heg MyTEE werENeR e fhdl oW
qifese. aE 7

(A) &=

B) <=

(C) 9=

(D) 18
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10.

11.

Which Indian law primarily
deals with the crime of money
laundering ?

(A)

Criminal Procedure Code

(CrPC), 1982
(B) Constitution of India, 1950

(C) Maintenance of Internal

Security Act (MISA), 1975

(D) The Prevention of Money-

laundering Act, 2002
Which day is

International Migrants Day ?

observed as

(A) 1 January

(B) 18 December

(C) 13 May

(D) 15 August

When and where did India conduct

its first nuclear test successfully ?

(A) 1st January, 1950 at Thumba
Rocket Launch Facility

(B) 18th May, 1974 at Army Base,
Pokhran Test Range (PTR)

(C) 3rd May, 1998 in Rajasthan
(D) 26th

Kanyakumari, Tamil Nadu

June 1975 at

10.

11.
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(A) FiSerr wfwar dfgar, 1982
(B) wRda Hfaem™, 1950
(C) oTafes R&m SEE SRl (HHE),

1975

(D) wHI-wffgn wfqay wEer, 2002

FHIVTT e AT TAdid (i)
fqaq WUA e hell Sl ?

(A) 1 SHaRt

B) 18 fedisr

(C) 13 &

(D) 15 3R

TR qieell STUET=0n shegl ST o

Bt ?

(A) 1 SHERl, 1950 g&= Ushe =
FEeitel

(B) 18 |, 1974 314l d¥, GReRU 3
bS]

(C) 3 ® 1998, T=Ee

(D) 26 S, 1975 H=ATHARI, THIEAS




12.

13.

The infrastructure project that links

Gwadar and Karachi ports in
Pakistan to Xinjiang Uygur
Autonomous Region (XUAR) is
called :

(A) Gwadar-XUAR Link Project

(GXLP)
(B) China-Pakistan

Corridor (CPEC)

Economic

(C) PORT to Mountain Project

(PTMP)
(D)

Sagarmala Project

With a view to put India in a more
“Proactive regional position” one
Indian leader announced a new
project (in Hanoi). Name the leader

and the project :

(A) Atmanirbhar
Narendra Modi

Bharat —

(B) Sushma Swaraj — Act East
Policy

(C) 3 Trillion Economy — Dr.
Manmohan Singh

(D) Multilateral Approach — Dr. S.

Jaishankar

12.

13.
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14.

15.

16.

Identify the treaty between East
India Company and Nepal signed on
1816 :

(A) The Boundary Treaty
(B) Treaty of Sugauli
(C) The Treaty of Susta

(D) Indo-Nepal Treaty of Peace and

Friendship

Battle of Longowal fought during

the war of ................
(A) 1948
B) 1962
(C) 1971
(D) 1999

Minabao and Khokharapar border is

in between :
(A) Gujarat and Sindh
(B) Rajasthan and Sindh

(C) Indian Punjab and Pakistan
Punjab

(D) Jammu Kashmir and Pakistan

Punjab

14.

15.

16.
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17.

18.

19.

20.

Chakama refugees came to India

(A) Myanmar

(B) Bangladesh

(C) Tibet

(D) Sri Lanka

Who is the first National Security

Advisor of India ?

(A) K. Subrahmanyam

(B) Brajesh Mishra

(C) K.P.S. Gill

(D) Ajit Dobhal

Gwadar Port of Pakistan has ........

occupation.
(A) USA
B) UK
(C) China
(D) France

Which terrorist organisation not

based in Pakistan ?

(A) Lashkar-e-Taiba

(B) Jaish-e-Mohammed
(C) Al Badr Mujahideen
(D) JKLF

17.

18.

19.

20.
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(B) ST
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(A) . oA

(B) forsiwr fHsn

(C) =&.d.ug. fi=

(D) AN Srerd
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(A) TR -T-al

(B) SHET-T-HIEHT

(C) 3Ta =T Helfea
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21.

22.

What is “Positive Peace” ?

(z) It goes beyond law and order.
(z1) It aims at providing wide range
of welfare services.

(zi7) It aims at creating a Police
State.

(A) All three are correct

(B) All three are wrong

(C) Only (i) and (i) are correct

(D) Only (i) and (iii) are correct

Which statement is not true about

“Structural Violence” ?

(A) Difference between actual and
potential is structural violence

(B) Justification of violence on

cultural ground is structural

violence

()

Subject-object-action is not

easily discernible

(D)

Actor or perpetrator of violence

cannot be easily identified

21.

22.
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23.

24.

25.

Which among the following is not
an Intergovernmental Organisation

(IGO) ?
(A) United Nations (UN)

(B) International Monetary Fund
(IMF)

(C) Amnesty International

(D) World Trade Organisation

(WTO)
Gandhian Satyagrah :
() 1is a pacific means to settle
disputes

(i) believes in the end justifies

means

(i11) believes in the close connection

between means and end
(A) All three are correct
(B) All three are wrong
(C) Only (@) and (ii) are correct
(D) Only (i) and (iii) are correct
Which are not the methods of pacific

settlement of disputes ?
(A) Arbitration

(B) Negotiations

(C) Mediations

(D) Military intervention

23.

24.

25.

APR - 16224/T1—C

JEICTUsh! hI0 HHe © ' s=uEsRd=a’
e 3 ?

(A) FEEE A3
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26.

27.

28.

Who gave the concept of ‘Center and

Periphery Nations’ ?

(A) John Galtung

(B) Stephen Cohen

(C) Henry Kissinger

(D) Barry Buzan

What is Peace Education ?

(A) To cultivate a culture of peace
based on human rights

(B) To teach about negotiation

processes in the contemporary

history
(C) To teach about military tactics
(D) To study the history of warfare

The human rights was adopted in
Universal Declaration was in the

year :
(A) 1776
B) 1948
(C) 1795

(D) 1947

26.

27.

28.
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HEra o Ui TR Heheu T YereTieh]

FIOT HSE ?

(A) ST TR

B) HEIHA HEM

(C) &1 frfa=r

(D) & g&a

waar foreon wos e ?

(A) 3TMaa FERdET U@ B OHAS
AfRNIER a7

(B) ThIEA Ufqeldeh hiei@ e 9ag

EIE eI e | G A g e

(C) oshil SEuHeEd e <0

(D) Ufqeras weTEEe JEIGaHl
A HXO!

el BeFh] Saq=al SITeATT=] SIooT

JEcTyeh! I TN HI0ATd M ?
(A) 1776
(B) 1948
(C) 1795

(D) 1947
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29.

30.

31.

Malnutrition is an example of :
(A) Cultural violence

(B) Physical violence

(C) Personal violence

(D) Structural violence

Which among the following is a

service provider group ?
(A) Amnesty International
(B) Human Rights Watch
(C) Red Cross

(D) Greenpeace Movement

Which forest area has largest forest

fire reported during 2019 ?

29.

30.

31.
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FHATUE AR
(A) Hiepfas feamm

(W ~*

(B) ISR TgH=N

(C) =fmue feamR

(D) IEF feuEr

ETATTdeh! IV Hell Y HI0m T
AR ?
(A) K pE ) E'EIEIQ[HE

B) #AMg ATHHR a9

(C) & %M

(D) WS HerHe

2019 A& WeAteTeh! shIoTeT TaehTol T
AN ST (SATerT ) HiedT JHIIeR
THEE T ?

(A) Kanha
' (A) =Tl
(B) Kaziranga ®)
(C) Bandipur () T"‘aﬂ_{
(D) Gir (D) fr
32. Which of the following gas leaked | 32. YU AL 79 ;ﬂg,’]q ST qw&tﬁ
during Bhopal gas tragedy ? 1 = M
(A) Potassium cyanide (A) U™ TEEe
(B) Methyl isocynate B) THIAEA ATEEEE
(C) Phosgene (C) hrgfsH
(D) Hydrogen cyanide (D) TASSHE HERS
13 [P.T.O.



33.

34.

35.

36.

Which place was most affected by
massive flood in Uttarakhand in
2013 ?

(A) Ramabara
(B) Gaurikund
(C) Sonprayag
(D) Narayankoti

Who chaired the National Disaster
Management Authority ?

(A) President

(B) Prime Minister
(C) Home Minister
(D) Defence Minister

Which toxic gas is known as ‘the

king of the battle gases’ ?
(A) Phosgene

(B) Mustard

(C) Lewisite

(D) Sarin

State Management
Authority of Maharashtra headed by

Disaster

(A) Chief Minister
(B) Home Minister
(C) Minister of

Management

(D) DGP of Maharashtra

Disaster

33.

34.

35.

36.
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2013 #Ed ITUEE ALY S HETYI
(STAYE) STl &a Fald SR e
HIve fehon et ?

(A) THTERT

(B) R%He

(C) HAYEm

(D) FANEUTERLE

TS AR STaEeds & JErerdeh]
IV ATl HERG $9d ?
(A) Tzt

(B) daye™

(C) Tew=t

(D) TREOHS

WCATeTish! 10Tl Sfadish 19e, &
TR SO WEAT FFTET TS
U ?

(A) HESH

(B) W=

(C) TifewmEe

(D) A

HEITSSTarel AsauTaasiais  ATa<
SFEUTIATaTe S SAfEHR qEradsl

HIUT AIETETE SHdE 2

(A) TEAT
(B) TRHHA

(C) STURIt =HEEae H3l

(D) HERTE T SRER SRe ATh

qreATd
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37.

38.

39.

40.

Name the relief operation launched
by Indian Army in the wake of
heavy rain in Uttarakhand during
June 2013 :

(A) Operation ‘Rahat’

(B) Operation ‘Raksha’

(C) Operation ‘Surya-Hope’
(D) Operation ‘Indra’

Which area of India is more

vulnerable to Cyclones and

Tsunamis ?

(A) Northern India

(B) Eastern-Northern India
(C) Central India

(D) Entire Coastal Area
Which is the disaster capital of
India ?

(A) Delhi

(B) Chandigarh

(C) Odisha

(D) Indore

When Wilbur and Wright brothers
made the first mechanical flight and

created the aerial age ?

(A) on 17 December, 1903
(B) on 27 December, 1903
(C) on 7 December, 1906
(D) on 17 December, 1899

37.

38.

39.

40.
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2013 A= TrEeRw ‘f sifagel

FTEITaT IIATT BAEAT TeOfaeh
GYTEATAl Hed LA S HEH
qafaelt o Jeretush! shIvre e aifed
AR ?

(A) HATTREE T

(B) AT @M

(C) HATRTE YATRM™

(D) SREA T3

ATl oA &5 & HFhallo AT
fegAT=n gfeshAA Sa Hiehareh
Med ? T qaE faer

(A) W ¥R

(B) TE-SW W4

(C) 99 9d

(D) |yui wqz T

TRATAe I Hataq TSer ®io
aq ?

(A) feeedt

(B) e

(C) e

(D) ¥=K

foretert 3T g ¢ AT fammret et
A5 IZST0T shegl ehedl ST galTg el
g el ?

(A) 17 fedaR, 1903

B) 27 feday, 1903

(C) 7 feT=R, 1906

(D) 17 feHeR, 1899

15
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41.

42.

What is ‘Resource curse’ ?
@) A

economically despite being rich

country underperforms

in natural resources

(z1) British economist Richard Auty

coined the term ‘resource curse’

(i1) African countries are victims of

‘resource curve’
(A) All are correct
(B) (i) and (ii) are correct
(C) (i) and (iii) are correct
(D) All are wrong

What were the purposes of Marshall
Plan of 1947 ?
(1) To prevent expansion of

Communism in Europe
(i) To reconstruct the economies of
Europe destroyed by the Second
World War

Marshall Plan failed to check

expansion of Communism in

€219)

Europe
(A)
B)
(C)
(D)

All are correct
Only (i) and (ii) are correct
Only (ii) and (iii) are correct

All are wrong

41.

42.
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() HETEOieTe 91 SHd ST Y
STfYfehgs=al AR

Gi) Tt srefae =g @it =T e
FAE] hed T WSl

(ii) ST T HEIEE MU= et
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B) (@) 30T (i) SR 37

(C) (i) W (jii) S=X A8

(D) e 31e/farau e e
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Bd 7

() FUIALTE ArgeRT= FHRIE Ies
Tt

(i) THEA ARSI JUI=A1 SAdTewe=

11 M - G R )
AUAHTEIE TS HU

(iii) FUTALS AHAET= TR RIeg
U HTle i SRl Stel.

(A) =fe fi=l

a1 e AT

(B) W (i) S (i) IER ST
(C) W (ii) =T (jii) SR M=
(D) Ta/fao qe-oted gehie oTRd
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43.

44.

What is “Scorched Earth Policy” ?

(z) A military strategy of
destroying everything before
retreating to prevent its use by
enemy forces.

(z1) A military strategy of denial of
natural and
infrastructure to invading army

resources

(zi1) It aims at crippling the war
fighting capacity of the enemy
army.

(A) All are correct

(B) Only (i) and (ii) are correct
(C) Only (i) and (iii) are correct
(D) All are wrong

Who were the Defence Minister of
India during Sino-India War
1962 ?

(A) V.K. Krishna Menon and
Baldev Singh

(B) V.K. Krishna Menon and
Yashwant Rao Chavan

(C) Kailash Nath Katju and Baldev
Singh

(D) Baldev Singh and Jagjivan

43.

44.

APR - 16224/11—C
WhisNgs A il =/l ® ?

@) Nk SR QRRITT STAT Sh{0e]-

TG YA Tl HIEAEH 75

L0 Bl Al s

YT SRIUTCATE] YeRTCel HIEAE O

fHeg 3, HAYd TN g1 A=Al

ATHAUYST ToL HASAT-THeATL

St

(i7) I3 ST g LA AT T
F ¥ IHE 2 et WS
T et

(A) 7o fel 1ef e ot

B) ®eH (1) I (i) X ATed

(C) o (i) 301 (i) =R 2T_d

(D) =9 T R

(i1)

1962 =1 YRA-= JHId TRATS FIE0
CEIE IR

(A) o, FOHT Nfor seiea fgm
(B) ot o, A 07 IRTEaE =0T
(C) HeraTy s omf Jeea fam

(D) delea fam 2o SFSied 1™

Ram
45. The theory of Lebensraum as tool | 49 fetergT=n fagr< ¢ T 4o T
of foreign policy is referred to : e Fd—ArE wag Hee
(A) Military Diplomacy (A) frefiedt fewete
(B) Living Space (B) fa=sin =
(C) Scientific Temperament (C) WE=Ihih TFH=
(D) Cultural Diplomacy (D) Feaa fewmHeE
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46.

47.

48.

The term Autarky refers to :

(A) Economic self-sufficiency

(B) Economic interdependence
(C) Arms Trade

(D) Defence Technology
According to SIPRI year book 2023,

the US remained main exporter of
Major Arms during 2018-22 with a
global share of :

(A) 40%
B) 50%
(C) 60%
D) 65%
The Kaladan Multi-modal Transport

Project of India consists of which of

the following ?
(1) Sea

(2) River

(3) Railway
(4) Road

Select the correct answer using the

codes given below :
(A) (1), (2) and (4) only
B) (1), (3) and (4) only
(C) (2), (3) and (4) only
(D) (1) and (2) only

46.

47.

48.

APR - 16224/T11—C
sferenl €1 SIeErael Yeierdehl ehIvmeit
T 3Tg 2
(A) sufeis wmEesH/w=Eguid
(B) aMfder TEREEsA
(C) A AR
(D) Teh THFr]

2023 =1 ol S3RIHTAR, 2018-22 =
TGS FHHT IS adme
TIRE 3¥T BN T STk Ik § 3T —
g e e

(A) 40%

B) 50%

(C) 60%

(D) 65%

N oY

YRATH heAlG HeleHied U Heie
§ Wil SR Hafd e ?
(1) TEs

2) &

(3)

4) T

Gl fedien wihfaw waiEtEl s
-q-q-i\_q ﬁlﬁ?{[ §

(A) = (1), (2) enfor (4)

(B) ® (1), (3) 2fuT (4)

(C) ®= (2), (3) 3mfur (4)

(D) e (1) 307 (2)
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49.

50.

51.

The term ‘Logistics’ refers to :
(A) Communication Network
(B) Supply Chains

(C) Mobilisation of Finances
(D) Army Recruitment

The discipline of ‘Defence Economics’

focuses on :

(A) Allocation of National

Resources for National Security
(B) Defence and Foreign Affairs
(C) Military Education
(D) Strategic Culture

“Different phases in the life of a
particular technology” is called

as :
(A) Technology Life Cycle

(B) Extension of Technology
(C) Technology Upgradation

(D) Application of Science

49.

50.

51.

APR - 16224/T1—C

Qe SHAEATTH § YIsareci] Gl shivred
TRl Helgd e ?

(A) FHHRIA AeTah

(B) ¥=I™ =

(C) Hiefiegsiyd i WA

(D) o1t fgpere

AT el B frsdten wWevia

EleTueh! IV SCehTe Hafed T ?

(A) TS GRadE! T Areu=i
Elci

(B) fem of= ®RT aThard

[ n .Y

(C) Thefell Ty

(D) e Tmeat

fafsre demm= weEen fafay =@
IA E JEAIH T Ad

(A) SHTAT A% HEH
(B) TEFHRM 3Ah THHATATS]
(C) TS TSI

(D) A=(HIA 3MF T&d
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52.

53.

54.

If a nation aspires to develop a
major regional and global influence

then what it needs ?

(A) It needs to have modern

military capability supported by

sound techno-economic
capability

(B) It needs only economic
capability

©)

(D)

It needs no capability

It needs internal socio-political
capability only

When “Economic liberalization” in
India took place ?

(A) 1990

B) 1991

(C) 1992

(D) 1993

The notions of most of the nation is

that the last guarantee of security

(A) Artillery weapon
(B) Nuclear weapon
(C) Biological weapon

(D) Chemical weapon

52.

53.

54.

APR - 16224/I11—C

TR e Ul A1l yefien st

SIGER G ICACEI ST B R

W FHUAT AR e ?

(A) TIIH-AoF &HawE STy
ST &l

(B) e oNfYer eal or@en wifgst

(C) HIOTATR] &Hddl TS 8]

(D) 3Idd TIdesiay  HTHT SR —TSTeh 19

&HdT
URAd oY SERIhIvT=a ShiEdsHAE

Tt HIveal IO A A
e ?

(A) 1990

B) 1991

(C) 1992

(D) 1993

AT IS 3TN Heu o1 foh R
SAfqH wvadt =S
(A) ARAT ITH

(B) geheileR dUH

(C) dIATSohel 999

(D) =HiqFhed a9
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55.

56.

57.

When MIG project was transferred
from the then USSR to India ?

(A) After 1947-48 Kashmir

Operation
(B) After 1962 Chinese Aggression
(C) After 1971 Indo-Pak War
(D) Before independence

The abbreviation HIMAT stands

for :

(A) Highly Made Tactical Weapons

(B) Highest Manufacturing
Technology

(C) Highly Manoeuvreable Aircraft

Technology Vehicle

(D)

Height Made Technology

Vehicle
K-15, SAGARIKA is a :
(A) SLBM
(B) SRBM
(C) ICBM

(D) IRBM

APR - 16224/T1—C

55. fom foum ScOcwal Uwhed IR

5 .
WA &hegl BEaY Shivgd el ?

(A) 1947-48 FITHRT YA X

A~

(B) 1962 =T SHHUTHG

(C) 1971 =0 9RT-UTh FEHR

(D) &= |

56. TA.SME.TA.TI. | TgF HAHH/

qUEEEY JEIegHTl 38

(A) B HE T o9

(B) BAE-TIThFL THIars]

(C) et BT TSGR SHIals

EARET

(D) TR AT IS @rha

57. K-15 W § YETdeR! ioredm

qUUTeSell wefyd e ?
(A) TH.TA.S1.TH.
(B) UH.S.&.TH.
(C) ra.det.um.
(D) AT IR 1.1H.

21

[P.T.O.



58.

59.

60.

Which organisation has partnered
with the Headquarters, Integrated
Defence Staff for joint research in

defence technology ?

(A) CSIR

(B) ISRO

(C) MOD

(D) DRDO

Which of the following is the

common language in Artificial

Intelligence ?
(A) Python

B) Java
(C) Lisp
(D) PHP
Which is

technology being

incorporated into soldier's clothings,
that would automatically hide the

soldiers presence ?

(A) Chameleons Technology
(B) Bio-Camouflage Technology
(C) Weaving Technology

(D) Hide and Seek Technology

58.

59.

60.

APR - 16224/I11—C

ATl Haeeh! e fehs W=

~

SRV K
Y WeEE &% Ifesd ?
(A) 41.UY.379.3T.

feh S=ATalSioR. hIvd T

(B) M. TH.3TR.3.
(C) TH.3M.EL.
(D) fe.3m.Etr.3.

fa o

AR SlclSaAed A0

(a = La

REIGEED
Sl ?

(A) 9EgF

4

& b S
hITTHT HTSET Tl Sh el

(B) S
(C) Toreg
(D) Wr.U=..

eretish! 3 UG TAAH e TR W
HfTeT=a TSRS, ST 206l ST
T Toh “oHes I IEleT fSHuIR Al YAl
TSI oY bl ?
(A) FHEAISH TSIt

(B) wMEI-shHGAS TS

(C) f=fam Tmfars

(D) TEE 3= "k s
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61.

62.

63.

64.

Operational Commands in Indian

Air Force are :
(A) 6
B) 7
C) 4
D) 5

Which one of the following is not
part of the Human Security

Discourse ?

(A) Freedom from fear
(B) Freedom from want
(C) Resource scarcity
(D) Defence expenditure

What differentiate between the
notions of STATE and notions of
NATION ?

(A) Territory

(B) Sovereignty

(C) Political integration

(D) People and Government
Which one of the following is not a

factor of “Nuclear Deterrence” ?
(A) Communication of Power

(B) Credibility of Power

(C) Membership of United Nations

(D) Rationalisation of National

Power

61.

62.

63.

64.

APR - 16224/T11—C
HATRIAA HAFEY

S

~ [}

(enql

AR BaTS SAId
aed ?
(A) 6
®B) 7
©) 4
D) 5

qEICTish! IO Al GREm Hehou-dl

(A) IR S

(B) TRSMEA &=
(C) GHIEA 74T
(D) HT&o T

e 0T TS A Geheu Tl Welerdeh]

IV STTHNEAL STy CU?W‘#CIICI ?

(A) IR
(B) HEUTE

(C) TSehid Wehiheo (W)

(D) a1 A 3mEA

TITATAU ] HITET Sk &1 HAfUereh
yEETen’ Hatga el ?

(A) HFFHIA ATH el

B) fweifaeiidt sifw dfer

(C) HeRRMM S RS A9

(D) WHAHSIH A6 A el
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65.

66.

67.

68.

When the subject “Defence and
strategic studies (Initially as
Military Science)” was started in
Maharashtra ?

(A) After 1962 War

(B) After World War I
(C) After 1971 War

(D) After 1857 Revolution

Sistan and Baluchestan Province is
situated in :

(A) Pakistan
(B) Iran

(C) Afghanistan
(D) Tajikistan

Who the
popularised the notion of ‘Industrial

among following

military complex’ ?

(A) President Eisenhower
(B) Raymond Aron

(C) Paul Kennedy

(D) Robert McNamara

The origin of the modern nation
state system is associated with one
of the following :

(A) Congress of Vienna
(B) Treaty of Utrecht
(C) Treaty of Westphalia
(D) Paris Agreement

65.

66.

67.

68.

APR - 16224/11—C
TERISIIG ‘&I 7107 A eh e
(qEaTdr=1 H=afom) 71 fo sheaTan
JAfEdeaTT e ?
(A) 1962 = FFHM®
(B) dfecal HELGMM
(C) 1971 =1 FHR
(D) 1857 =1 FSMW
fowam enfor sSeffesam wid qererient
FHIUA U W AR 2
(A) TIfer&IH

(aY (a 2 b=

SeRTT-THEleX] ShIveie

2 Geheu]

NN N o
?

EOEISIETEERCE EIS

T T Uah
(A) UfFE= SFERa

B) e WH

(C) dfel el

(D) e HepToll

Yoy Te-US gEdiE W A
ey YelcTushl ShIoTEN FElHa M ?
(A) wHE IF fege

B) Fgree T

(C) ot =i SIemedten

(D) WE sfdHe
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69.

70.

The book ‘The Geography of the

Peace’ is authored by :

(A) AT. Mahan

(B) Nicholas John Spykman
(C) Karl Houshofer

(D) Friedrich Ratzel

Match the countries with the year
in which they conducted nuclear

tests, given in Table I and II :

Table-I Table-II
(@ Soviet Union (i) 1960
®) UK (i) 1964
(¢) People’s Republic (i) 1952
of China
(d) France (iv) 1949
Codes :
@ ® @© @
A) Gv) Gi) G 6
B) ) G G Gii)
©) Gv) G) GiD) G)
D) @) Gi) ) 6

APR - 16224/T1—C

69. ‘T SR w4 W g
AEE HW AR ?

(A) T #wEH

(B) Tepler® SiH TUERHA

(C) wid BIMHT
D) wei=w e

70. @reild S[EEvl Y

Zeet-1 Zee-I1
(@) wHifegad i () 1960
®) g (i) 1964
(€ =M (ii1) 1952
(d) W (iv) 1949
m :

@ ®) © @
(A) Gv) Gi) @) @)
B) () @) Gv) Gii)

(C) Gv) @GD)

D) @) (@)

@) @)

(tv) @)
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71.

72.

73.

Native name of Military Thinker
Sun Tsu was :

(A) Sun-Tao

(B) Sun-Zu

(C) Sun-Wu

(D) Sun-Ma

launched

Pakistan’s army

‘Operation Ababeel’ for the territory

(A) Baloochistan
B) FATF

(C) Kashmir Valley
(D) Siachen Glacier

‘Look East Policy’ of India launched
by the Govt. of India led by the

former Prime Minister

(A) P.V. Narasimha Rao
(B) Manmohan Singh
(C) Atal Bihari Vajpayee

(D) Indira Gandhi

71.

72.

73.

APR - 16224/I11—C

“gaeg W aeRd faemeas 2
(Pefae) = B :

(A) FgA-e0

B) gi-g

(C) ¥1-9

(D) gi-#

it = ¢ SfRE ST

WTEielieh! IVl JUSTd @0

e ?

(A) s
(B) THUITH
(C) =IH=E @i

(D) foar=+ feaee
T TRRA ¢ T S Wiferd! @etierieh!
FHI TAUEHT hdhlesd Ui o0

el ?
(A) M= REERE
(B) H A &

(C) 31w Tomrd areTueh

(D) <R meh
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74. Carl Von Clausewitz belongs to the

75.

76.

country of .............
(A) Prussia

(B) Russia

(C) Germania
(D) Macedonia

Find the correct ascending
chronological sequence of the

following thinkers :

(A) Haushofer, A.T. Mahan,
Mackinder, S.B. John

(B) S.B. John, Mackinder, A.T.
Mahan, Haushofer

(C) A.T. Mahan, Mackinder,
Haushofer, S.B. John

(D) Mackinder, S.B.
Haushofer, A.T. Mahan

Who said,

important element in war because

John,

“Spies are the most

on them depends an army’s ability

to move ?”

(A) Kautilya

(B) Jomini

(C) Sun Tzu
(D) J.F.C. Fuller

APR - 16224/T1—C

74. Fid = FASGIST § R SIMA

75.

76.

Hafa afed ?

(A) wferan

B) e

(C) S

(D) HehEin
EEEEIE
FHIAHATER FHH @l
(A) BEIHL, TN HeM, Hihel, TH.4.

o

N

T M1 AT

(B) THE.Sl. <, Wfhsy, T "M,

(C) T3l HeM, Hfhex, gL, TH.4.

o

SIS

(D) ey, Ta.st. <M, gL, TE
HalH

“gg FFeHda @R’ g T
TEcaUl Feh AT HRY T STeTe

o~ 5 ~_a 2 "
e fGeTedl HATadiea STEREs S
YIRS THIOT SO0 &THdT 3THd
X faum S A ' 2

(A) hifeed
(B) ST

(C) g7
(D) S.UH.H. e
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77.

78.

Match the strategic thinkers with
their respective area of war doctrines
on the basis of the following List I
and List IT :
List I

(@) Clausewitz
®)
(c)

(d)

Douhet
Marx
Fuller

List II
(@Z) Air Power
(i)

(zii) War as an instrument of Policy

Mechanised Warfare

(fv) Social Revolution

Codes :

(@) (B)
A) @) )
(B) @) (i)
©) @) GiD)
D) @) @)

() (d)
@) ()
@) @)

@ @v)
() (@)

J.F.C. Fuller was called by his nick

name of ........

(A) Boney
(B) Coney
(C) Loney
(D) Toney

77.

78.

APR - 16224/I11—C

arsehdl faamaanell wr=n wefad 9§
fagrarstt W’Uﬁ <l
-1
(@) wFATSIiOS
(b) =&e
(c) w=E
d) ER
-1
(@) B SRR
Gi) @F IS
(i) I5 & HNOmE HieH
(iv) |  ShTd
Hehdih

(@) (®)
A @O @)
(B) (v) i)
© © @)
D) @) @)

(c)
(@) ()
@ @)
@) (@)
() @)

(d)

.U H. el B TIelelush! shioet 2ol
(TE-T) 9aM HEEe W o ?

(A) =it
(B)
(C) =
(D) 2
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79.

80.

‘A captain who taught the Generals’

is associated with whom ?
(A) Douhet

(B) Liddell Hart

(C) Mitchell

(D) Mackinder

‘Das Kapital’ written by Karl Marx
and first time published in the year

in Hamburg.

79.

80.

APR - 16224/T11—C
‘T 3 e fh SR S’ o
forrfael ¥ Oeliadest HomRl Hetod
A ?
(A) T2
B) fafes &2
(C) ™R«
D) Hfr=
wTd A Il fafecen ‘s Sftes’
BT T TLHT: ShIve SIS Wehli9Td Shavard
e ?

(A) 1861 (A) 1861
(B) 1863 B) 1863
(C) 1865 (C) 1865
(D) 1867 (D) 1867
81. Where is the Headquarters of | 81. ‘AR’ 3 THAN TH@ HEAGAI &S
NATO ? o ?
(A) Berlin (A) &N
(B) New York (B) —at®
(C) Brussels (C) SHe™
(D) Paris (D) W
82. When did India proposed | 82. YRAM TWIF U TEME LeLH
‘Standstill Agreement’ at the United A== Y Sedl 9t Sl ?
Nations ? (A) 1955
(A) 1955
B) 1956 B) 1956
(C) 1954 (C) 1954
(D) 1957 (D) 1957
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83.

84.

85.

The International agreement
between countries that provides a
complete framework for the
establishment, maintenance and
termination of diplomatic relations

between sovereign states is called :
(A)
B)

Geneva Convention

UN Declaration of Human
Rights

(&)
(D)

The Vienna Convention

The International Treaty

Organisation

Which of the following countries are
members of BIMSTEC ?

(A) Thailand

(B) Myanmaar

(C) Nepal

(D) All of the above

What is peace-keeping activities ?
(A) The UN Monitoring of

ceasefires and separating

combatants

(B) The UN bringing combatants to

negotiation
(C) The UN observing the ceasefires
(D) The UN bringing the nation

states to negotiation

83.

84.

85.

APR - 16224/I11—C

SERE 9 GeYEl gAT<aer 9o

AErET/Agared GQld s U1

AR e T8 qETTH 3T

(A) SiHIeET FHaNH

(B) HIF AT AT Gehaer=|

TS0

(C) T fag=/fee-n <=

(D) U FAR FeeA

Gk hId 29 B SRS @
A WeH AR 7

(A) gEee

(B) =MHR

(C) A9t

(D) AU Tl

TIiadT ST TREvaTEeae SUshH <hivld

3med ?

(A) “'ggaet srfor oerss dfTsren
Frdare!’ IETed e et
ERENEETU

(B) I T W@l TSl dleTEme-
TS AN L0

(C) T U2 ggoaamedd e

(D) HgF T o eradsl R

aqfor fdieron
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86.

87.

88.

Who coined the term ‘’Narco-

terrorism” ?

(A) Kenneth Waltz

(B) John Mearsheimer

(C) Fernando Belaunde Terry
(D) Robert Keohane

Who has written the book “The

History of the Peloponnesian
War” ?

(A) E.H. Carr

(B) Thucydides

(C) Hans J. Morgenthau

(D) Machiavelli

What is counterforce strategy ?

(A) Nuclear missiles aimed at the
enemy’s missiles rather than at
its population or industrial

centres

(B) Nuclear missiles aimed at the
enemy’s population rather than

at its missiles installation

(C) Nuclear missiles aimed at the

enemy’s economic centers

rather than at its population

(D) Nuclear missiles aimed at the
enemy’s Commerce Capital
rather than at its Industrial

Centres

86.

87.

88.

APR - 16224/11—C
YRt FREE’ W HEHETET IS
e v ?
(A) HfFa dfees
(B) W BRI
(C) wAIE! dare
(D) Ua g
“g et anw o faairge afe’’ =

IRl O@lh hiv e 7

(A) TUE. HI

(B) gdierEed
(C) B <. At

(D) ¥ebegedl

FRL HY IS RS w2

(A) SAfUeh &IUIE YA &quITeen
8T AT AN STHRdl ST

AT g deF HaM

B) frgw &gure STl

TSNS = AR SHEdA T
g hdid

HAfoaeh &g AR SRSt
A SAUE hell a8 hLdrd
sifoaesr  Soume I A
shaTuasil ATl SR S TEETAT

(®)

(D)

TIYHTAT T8 Shidrd
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89.

90.

91.

Who founded Lashkar-e-Taiba ?
(A) Hafiz Saeed

(B) Zafar Igbal Shehbaz

(C) Naib Ameen

(D) Muhammad Yahya Mujahid

India conducted nuclear test the so

called Pokharan-I in the year :
(A) 1974
B) 1976
(C) 1998
(D) 1999
What is the strategy of
bandwagoning ?

(z) To outsource its security to the
regional or global hegemon

(i) To resist regional or global

hegemon
(iir) To extract benefits
(A) All three are correct
(B) All three are wrong
(C) Only (i) and (i1) are correct

(D) Only (i) and (iii) are correct

89.

90.

91.

APR - 16224/I11—C

TSRy TSl AT WA TOTOT hioh
Hell 2

(A) TR g

(B) STHL Sharcd &S

(C) 7o ST

(D) HgHe Al SRS

TREroT 38 YRAM Herme)/afgel sToerent
FIVE uid EAel Bt 2

(A) 1974

B) 1976
(C) 1998
(D) 1999

ST WISt S w2

(i) GREME wRfies anfor sfaes sren
TRl A0 TS o

(i) gferer sfr SmTfas &9
JfqwR &0

(i7i) HEcoqUl W U EO

(A) o= = dUe) R

AP

el

(B) fot 99@ T& 3Ted
(C) Rl (§) Mf (i) SRR 3Medl
(D) R (i) SO0 (i) SR SATed
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92.

93.

94.

What is not included in internal

security ?

(A)

Prevention of illegal activities

within borders of the country

(B)

To prevent activities that are
detrimental to the security of

the country

(&)

Maintaining law and order
(D) Protection of Foreign Affairs
Brahmos is :

(A) a cruise missile

(B) medium range air-to-air missile
(C) antitank missile

(D) beyond visual range missile

Star wars and NMD is violative

of :

(A) Outer space treaty
(B) ABM treaty

(C) MTCR

(D) SALT

92.

93.

94.

APR - 16224/T1—C

ST GREAWE qeleideh! V=T HHGT

FHLOAT 3Tl TRl ?

(A) SR FeA S SR TS
HIOYT e 3T

(B) gare giteshiAIgd <ume guar
el UeEd SR A didag
(ST@) FOA A SR

(C) PRI 9 YOI SAasSevl

(D) T HfYa e &0 0]

TR ¥

(A) & fHoRa s

(B) TORA-8Ad AR VIR HEAH Toodra
YU 3778

(C) TTTETEET v MR

(D) T Teilhe AR L0 SqUTes
e

WRAR T g ¥ wrelete]

= : LY
hIMd 3IoeTdd hid 7

(A) &I AIRET IR

(B) i<t o= framga I
(C) IR,

(D) TE.TEAE. (Hee)
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95.

96.

97.

What is the popular name of

Strategic Defence Initiative

(SDI) ?

(A) Star wars

(B) Earth wars
(C) Maritime wars
(D) Ocean wars

The host Government for the
conference on a “WMD Free zone in

the Middle East” is :
(A) USA

(B) Finland

(C) Egypt

(D) Norway

What is the only state to have

withdrawn from the NPT ?
(A) Australia

(B) Syria

(C) Iran

(D) North Korea

95.

96.

97.

APR - 16224/I11—C

~ o

e fe

®g sfAfeefes (SDD) =

qufis 914 @ TR ?

(A) TR ="
(B) gt afd
(C) Wit &
(D) HeENNe g6

Teqqd B OYuey 'au A% ™

SERE" Urgd W TRlell TErel
T TeTUh! ShIvTT T Ui AT
el Brdl ?

(A) J.TET. (THIER)

B) el

(C) e

(D) e

e YER a1 (NPT) FIRA SR

TR THHd U9 iU 7
(A) sitefemn

B) fadn

(C)

(D) ST SR
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98.

99.

100.

Warsaw Guidelines (1992) of the
NSG refers to :

(A) Fullscope Safeguards

(B) Facility Specific Safeguards
(C) INFCIRC 66

(D) INFCIRC 540

What type of technology does the

Wassenaar arrangement primarily

control ?

(A) Nuclear technology

(B) Conventional arms and dual

use goods and technologies

(C) Chemical and Dbiological
technology
(D) Missile and UAV technology

India joined the Missile Technology
Control Regime (MTCR) in the

year :
(A) 2016
(B) 2007
(C) 1998

(D) 2011

98.

99.

100.

APR - 16224/TI—C
1992 =1 afF=l Fefe” TeEd J4q
gaLl giaa seedl ATRYiE g
eIkl HIVMRN FEfad e ?
(A) FEERY GETEY

B) wfaetd

b S VI .

SH " len

e
RS H

(C) TTHHYM TEHIe-66

(D) TTRHHIA WHIER-540

QEIeTtsh! ShIUT TRl & Sed TS BRI

SHLUITSTET ShISeh LU0l fE=or Shet STt 2

(A) sifvee Tom

(B) URUIe ¥ fgsugaaadr s
(C) o= oo o o=
(D) fraEe enftr Juadt aoem

YEIds] 9Rd hiviear gl fAEse
TGS Fge NSTEr=n Tee Sel ?
(A) 2016
B) 2007
(C) 1998

(D) 2011

35

[P.T.O.



APR - 16224/I11—C
ROUGH WORK

36



